mean # PXL hits vs eta

<pixel hits> [

al

.....................................................................

0.95

mean # PXL Layers with measurement vs eta

<pixel layers> [

N w .
a1 w U'IHH-Z a1
i
]

N

.....................................................................

0.95

[ LI

TeST_TI000EVT
REFit-test_1000evt

'_
F
FitREFit-test 1000evt
N ESTCKF_T000evt

<strip hits> [

Ratio

TEST 100'0evt

0.95

. 1
++m++++*--'---+##%#+ ..... +

++

o
+

—i2 1

W rrrrJrrrrr

<strip layers>

Ratio

d
——
==
-
i
-.E-
4‘!'
-

0.95

wllll!llll




	Contents
	Page 1


